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1 [E=f 2(BER) 1,000 [110/11/01 |A+ € PRFx%2 L spfees [ |- & & 2
2 |1 a5 1,000 [110/11/01 |+ € pRFx2 L pfeesr [ |- & & 2
J | EXE 1,000 [110/11/01 |A+ € PRFx%2 L spfees [ |- & & 7
4 |3=k4 1,000 [110/11/01 |A+ € pRFx2 L spfees [ |- & & 2
h |2~ B 5,000 |110/11/01 |4 € PRFx2% Ldpfers [H |- &% 7
6 X %7 1,000 [110/11/01 |A+ € pRFx2 L spfees [ |- & & 2
7 & LA 915 |110/11/01 |- € PRAx% LHdpfers (2 |- &% 7
ER - IAERN) 500 [110/11/01 |A+ € PRF%%2 Lspfees [H |- & & 2
9 |7 E 500 [110/11/01 |4+ € PRFx%2 L spfees |2 |- & & 7
10|34 500 [110/11/01 |A+ € PRF%%2 Lspfees [H |- & & 2
11 |73 5 4 300 [110/11/01 |4+ € PRFx%2 L spfees |2 |- & & 7
12|32 %= 2,000 |110/11/01 |4 € PRFx2 L¥pfers |2 |- %% 7
13 |35 =% 4 1,000 [110/11/01 |A+ € PRFx2 L gpdees [ |- & & =
14 | % 1,000 [110/11/01 |+ € pRFx%2 L spfees [ |- & & 2
15 |44 % 1,000 [110/11/01 |A+ € PRFx2 L gpdees [ |- & & =
16 |77 1,000 [110/11/01 |+ € pRFx%2 L spfees [ |- & & 2
17 |5 B 300 [110/11/01 |A+ € PRFx%2 L xpdees [H |- & & =
18 |5 F & 300 [110/11/01 |A- € PRF%%2 Lspfees |2 |- & & 2
19 |% g = 300 [110/11/01 |A+ € PRFx% L xpdees (£ |- & & 2
20 |5k 4w 300 [110/11/01 |A- € PRF%%2 Lspfees |2 |- & & 2
21 | % &% 300 [110/11/01 |A+ € PRF%%2 Lxpfees [H |- & & 2
22 |5% 4 & 30,000 [110/11/01 |4+ € PRF%%2 Hspfees |2 |- & & 2
23 |2 & & k& wAb 5,000 |110/11/01 |4+ € PRFx3% L¥pfers |4 |- &% =
24 |5& Ik 300 [110/11/01 |4+ € PRF%%2 LHspfees |2 |- & & 2
25 | & ¥ & 750 |110/11/01 |A+ € PRIx% Lipfers (4 |X %~
26 | & % % 750 |110/11/01 |AX € PRAx2 Ldpfers (2 "B % 2
27 |42~ 7 200 [110/11/02 |4+ € PRF%2 Epfees (£ |- & & 2
28 |25 B 200 [110/11/02 |4+ € PRFx%2 Lspfees |2 |- & & 2
29 |42 % B4 200 [110/11/02 |4+ € PRF%%2 Espfees [H |- & & 2
30 [#i& & 200 [110/11/02 |4+ € PRFx%2 Lspfees |2 |- & & 2
31 |#% fF 200 [110/11/02 |4+ € PRF%%2 Espfees [H |- & & 2
32 |#RF 5,000 |110/11/02 |A- € PRFx3% Ldpfers |2 |- &% 7
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33 [y = 1,000 [110/11/02 it & 1Ris 2 & sidews [ |- i =
34 [ 1,000 [110/11/02 [i ¢ reis2 & sikees [ |- 46 =
3 |7 & 1,000 [110/11/02 i ¢ 1Ris2 & sidees [ |- i =
36 (% & 1,000 [110/11/02 [i & reis2 & sickees [ |- 46 =
37 [+ ¥ 7 1,000 [110/11/02 [ ¢ riir® & gagers [ |- ind =
38 [ 1,000 [110/11/02 [i & reis2 & sitees [ |- &b =
39 [t 40 1,000 [110/11/02 [ ¢ riir® & gagers [ |- ind =
10 [wp 2 1,000 [110/11/02 [i & reis2 & sitees [ |- &b =
1 A% 1,000 [110/11/02 [ ¢ riir® & gagers [ |- ind =

PO

g |o 2 B IR EEAE g 000 (110711708 i g mmakx msmpess [ |- s
43 |17 13 3,000 [110/11/03 |4+ ¢ PRA*% A Esces |[H |- &% »
ATER: 3,000 [110/11/03 [it & it 2 & siseet [£ |- i =
45 [1in 3,000 [110/11/03 [t & it & sscet [£ |- i~
16 [tri# % 3,000 [110/11/03 [it & it 2 & siseet [£ |- i =
A7 [igs ¢ % 7 3,000 [110/11/03 [t & it & sscet [£ |- i~
18 [ 5,000 [110/11/03 [it § Rt 2 & disees [£ |- i =
19 |5 fetr 5,000 [110/11/03 [ & it & sscet [£ |- i -
50 [ % 5,000 [110/11/03 [it § Rt 2 & diseet [£ |- i =
51 &7 5,000 [110/11/03 [ & it & ssees [£ |- i -
52 | % 3k 6,000 [110/11/03 [it & Rt 2 & sdeet [£ |- i =
53 [% 7 € 5,000 [110/11/03 [ § it ® & seteet [£ |- ik -
54 [an e 400 [110/11/08 i ¢ reis 2 g siters [ |- i =
55 [thoc % 400 [110/11/08 i ¢ reis 2 & sitees [ |- i =
56 |72 i 400 [110/11/08 i ¢ reis 2 g siders [ |- i =
57 |k 400 [110/11/08 i ¢ reis 2 & sitees [ |- i =
58 [ % 400 [110/11/08 i ¢ reis 2 g siders [ |- i =
59 1% 500 [110/11/03 [id ¢ 1Ris 2 & sitees |4 |- 46 =
60 1% % % 500 [110/11/03 it & 1Ris 2 & sidews |8 |- i =
61 [k 2 10,000 [110/11/03 [z ¢ Iis 2 & dedcet |[£ |- i ® -
62 i 127 100 |110/11/03 | ¢ redv = gsppens |2 |2 HE
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63 | % i % 100 [110/11/03 |3t § PRix 2 & sfsces |2 ;i'f%’&
64 | & - 2= 30,000 [110/11/04 |4+ g PRFx2 Lipgers |[£ |- 4% 2
65 | 4 i 30,000 [110/11/04 |4 ¢ pRsx2 &dpsens |[£ |- 48 2
66 | =+ 20,000 [110/11/04 |A ¢ PRix® Lupgees |[£ |- 8 =
67 |[E 48 20,000 [110/11/04 |4+ € pRix2 Lpfers £ |- &% 2
68 |2 & 20,000 [110/11/04 |A- ¢ rRix 2 et | |- &%~
69 | mgfe 30,000 [110/11/04 |4+ ¢ pRsx2 &Lipsens |[£ |- &8 2
0¥ E 30,000 [110/11/04 |A & mRis =z &apgers |[£ |- 42 =
|FEsx 20,000 [110/11/04 |A- ¢ pRis2 Lapfees | £ |- 42
72 |#hiR B 1,000 [110/11/04 |4 § P52 Sipfers [ |- 48 2
13 |#h %5 1,000 |110/11/04 |A- & PRA% % gt [ [- &%~
T4 |47 45 10,000 [110/11/04 [ € PR7%% & gpsers [ |- i =
(HEEE 400 [110/11/04 |4 g PRF% % Eopfees [ |- &g 2
76 |MdR 4 400 [110/11/04 |4 § PRFx 2 Eopfees [ |- &g @
EEE" 400 [110/11/04 |4 g PRF% % Eopfees [ |- &g 2
78 | Rk 400 [110/11/04 |4 § PRFx 2 Eopfees [ |- &g @
79 |42 1 8 200 [110/11/04 [A- € P52 E¥pfees [ |- & d 2
80 (Mm% %% 200 [110/11/04 [4+ € JR5%2 Lipfens [ |- & d 2
81 |45 3% ” 1,000 [110/11/04 |4 g P52 Eopfees B |- &8 2
82 | ¥ + 4% 1,000 [110/11/04 |4 § PR32 Eopfees [ |- &g 2
83 |1 £ 7% 1,000 [110/11/04 |4 g P52 Eapfees [ |- &8 2
84 |2~ 500 [110/11/04 [4- € PR5%2 Eipfers [ |- 48 2
85 |ty A2 P 1,000 {110/11/04 |4+ ¢ pRix% Aspsees (£ |- &% ¢
86 | P 3 200 [110/11/04 [4: g P52 E¥pfees [ |- &g 2
87 |2 P i 200 [110/11/04 [A- € IR5+2 Edpfens [ |- & d 2
88 |FEH % 300 [110/11/04 [4: g PR32 Eopfees [ |- &g 2
89 | Mg ® 200 [110/11/04 [A- € PR5+2 Eopfers [ |- &8 2
90 |2 % ~ 500 [110/11/04 |4+ ¢ PRA*% Lipgees |8 |Eg S =
91 |¥ % W 6,000 [110/11/05 |4 ¢ PRAx2 Eipfees [B |- 4 & 2
92 |8 % 4o 100 |110/11/05 |k & PRin2 & st [ |- 4 & 2
93 [ & ik & 100 [110/11/05 |At¢ pRix2 L¥psees |8 |- &b =
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94 | % s F 500 |110/11/05 |4+ € PRA%2% & gpferes B |- &2 =
95 | % @44 500 {110/11/05 |4+ € PR3%:2 &spfens [ |- 4 =
96 | £ sx## 500 |110/11/05 |4+ € PRA% % & gpferes B |- &2 2
97 |5 4z 97 500 |110/11/05 |4+ € PRA%2 & giferes [B |- &2 =
98 [% £ % 500 |110/11/05 |4+ ¢ pRA%x3% & Epsers |H |- & »
99 [P #% 2,000 [110/11/05 |4+ € pRix 2 L iffees |[£ |- 42 =
1005 K% 2,000 {110/11/05 |4+ € pRA%2 Lipfees £ |- 4p 2 =
1017 & = 500 |110/11/05 |4+ € PRA%2 & gideres [H |- &2 =
102[ % 2 500 |110/11/05 |4+ € PRA%2 L gderes |8 |- 42 =
103t M 2 Z 500 |110/11/05 |4+ € PRA%2 & gideres [H |- &2 =
104|4F+ 2 500 [110/11/05 |4+ € pRF%2 &igfees |8 |- 48 =
105 |57 #F & 1,000 [110/11/05 [A- ¢ prias 2 Lapgees £ |- 42
106 |#% % 300 |110/11/05 |4+ € PRA%2 Lgpders [H |- 42
1075 75 500 |110/11/05 |4+ € PRA%2 & gipderes B |- 42 =
108 |37 % 500 [110/11/05 |4+ € pRAs2 &ipfees | |- 422 =
10947 % # 500 [110/11/05 [+ € PRAx2 Edpdees [B |- 4% =
110|585k % 500 |110/11/05 |4+ € PRA%2% & giferes B |- 42 2
111 |38k % 500 [110/11/05 |4 ¢ PRAx2 Lipfees B |2 %% 2
1121 % % 500 |110/11/05 |4+ € PRAx2% &gpfers [ |2 g2 2
13|+ 5 500 [110/11/05 [+ ¢ rrir2 Lgpferes |2 |2 % 2
11418 + & 5,000 |110/11/05 |4t ¢ PRA%% L Epfces |8 |RHE L =
11515 2 & ‘ . s | o |[AEE PR
i 6,000 |110/11/05 |t € PR 2 & Erces | £ g
116]4 K & 500 |110/11/05 (A ¢ PRz EGipfeer |4 [RF % =
117]% £ - 200 [110/11/08 |4+ € pRFx2 &igfees |8 |- 458 =
118 |44 7 200 |110/11/08 |4+ ¢ PRA% % L pfees |[£ |- 42 =
119 | 48 fF 100 [110/11/08 |4 ¢ pRix2 &apgeres |8 |- 42 2
120 [:% 46 7 100 [110/11/08 |4+ ¢ pRir2 &ptcrs |8 |- 48 =
121[:% & 100 [110/11/08 |4+ ¢ pRix2 &ipferes |8 |- 4% =
122|% &8 100 [110/11/08 |4 € PR3 % Ldpfers |H |- &% =
123]:% it4a 100 [110/11/08 |4t ¢ pRar2 Lepsces | £ |- 4 & =
124 | Wit 100 [110/11/08 |4+ ¢ pRix2 &updcrs |8 |- 48 =
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125 |Mi2F 2 &% 100 {110/11/08 |4+ € PRFx% L Egfees | £ |- &5 =
126]:% &+ 100 [110/11/08 |4 € FRA*% L pfers [ |- & =
127\ % % B 100 [110/11/08 |4+ ¢ PRAx % Ldpsces [ |- &8 2
128|% ¥ 3 500 [110/11/09 |4+ € PRFx%2 L pfees |2 |- & & 2
129|% % 4o 500 [110/11/09 |4+ € pRix2 Lgpters [£ |- 42 =
130 % #n5 &7 F 25885 20,000 {110/11/09 (A€ PRFx% L Epfeet | & |- &5 =
131|538 % 1,000 [110/11/09 |+ € pRGx+%2 L spfees [ |- & & 7
132|5% 3= % 1,000 [110/11/09 |+ € pRFx2 L spfeesr [ |- & & =
133]% 1,000 [110/11/09 |A+ € PRGx%2 L spfees [ |- & & 7
134 |5k ¥ 1,000 [110/11/09 |+ € pRFx2 L spfeesr [ |- & & =
135[5% & 4 1,000 [110/11/09 |A+ € PRGx%2 L spfees [ |- & & 7
136|2 2 = 500 |110/11/09 |[Ax € PRF*+% L¥pfees |2 |- & & =
137|% & # 500 [110/11/09 |A+ € PRFx%2 L xpdees (4 |- & & =
138 |z ze 500 [110/11/09 |4+ € PRFx%2 Lpfees (2 |- & & 2
139|% A= 500 [110/11/09 |A+ € PRFx%2 L xpdees (4 |- & & =
140(¥r+ 4= 500 [110/11/09 |4+ € PRFx%2 L spfees |2 |- & & 2
141 4R % 500 [110/11/09 |A+ € PRFx%2 L xpdees (4 |- & & =
1423 4 22 500 |110/11/09 |[Ax € PRF*+% L¥pfees |2 |- & & =
143 |Fh £ & 500 [110/11/09 |A+ € PRFx%2 L xpdees (£ |- & & =
144 |Fr & % 500 [110/11/09 |4+ € PRFx%2 L spfees |2 |- & & 2
145 |4k 38 7 500 |110/11/09 [A: ¢ pRix3% Lipgers |H |- & & =
146 |Fh 4 = 500 [110/11/09 |4+ € PRFx%2 L spfees |2 |- & & 2
147|858 3% % 97 5,000 |110/11/09 |4+ € PRFx3% L¥pfers |4 |- &% =
148 | &£ 4% % 500 [110/11/09 |4+ € PRFx%2 L spfees |2 |- & & 2
149|2 % % 500 |110/11/09 [A: ¢ pRix3% Lipgers |H |- & & =
150 |3k P 1,000 [110/11/09 |+ € pRFx2 L spfeesr (£ |- & & 2
151 |t 600 |110/11/09 |4 ¢ PR32 L upgees |H |- & & »
152 % % 500 [110/11/09 |4+ € PRFx%2 Lspfeesr |2 |- & & 2
153|444 500 |110/11/09 [At ¢ PRix3% Lipgers |H |- & & =
154|% 5 % 500 [110/11/09 |4+ € PRFx%2 Lspfeesr |2 |- & & 2
155|% = %> 500 |110/11/09 [At ¢ PRix3% Lipgers | |- & & =
156 |% F " 1,000 [110/11/09 |4+ € pRFx%2 L spfees [ |- & & 2
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157+ % & 500 |110/11/09 |4+ € PRF*Z H¥pfres | £ |- & & =
158 |+ % # 500 [110/11/09 |4+ € pRis2 Lipsees |2 |- 44 =
1595 x iz 500 |110/11/09 |4+ € PRF*2 L ¥pfres | £ |- & & =
1604k % & 500 [110/11/09 [4r ¢ pRsx2 Eapfees |8 |- 48 »
161|m & 500 [110/11/09 |t & prasxz Lspgees |8 |-t =
162]%1 2 ¥ 500 [110/11/09 [4r ¢ prsx2 Eapfees |8 |- 48 =
163|457k 500 [110/11/09 |t ¢ prasz Lapgees |8 |- g »
1641k % % 500 [110/11/09 |4+ ¢ FRA%% L spfees | |- & & =
165 %) 45 2 500 [110/11/09 |t ¢ prasz Lapgees |8 |- g »
166| 2 25 500 [110/11/09 |A+ € PRFx%2 L pfees |2 |- & & 2
167 %% % 500 [110/11/09 |4+ € pRF:2 Eipdees |2 |- 48 =
168 2 35+ 500 |110/11/09 |4+ € PRF*% H¥pfres | £ |- & & =
169+ & % 500 [110/11/09 |at & prasxz Lspgees (8 |-t =
170|545 % 500 |110/11/09 |+ & pRas2 A gpfens [£ |- 4% =
171 | e 2 500 [110/11/09 |A+ € PRFx%2 L xpdees (4 |- & & =
1727 = 7 500 [110/11/09 |4+ € PRFx%2 L spfees |2 |- & & 2
173+ & 42 500 [110/11/09 |at & prasxz Lspgees (8 |-t =
174% & = 5,000 [110/11/09 |A+ € PRI%2% Lgpfees |[H_ |- &&=
175 %1 % & 500 [110/11/09 |t & prasxz Lspgees |8 |-t =
176(% k42 500 |110/11/09 |4+ € PRF*% L ¥pfres | £ |- & & =
17757 % 500 [110/11/09 |A+ € PRF%2 L pfees (£ |- & & 2
178 [ F14F 5t 500 |110/11/09 |4+ € PRF*Z L ¥gfres | £ |- & & =
179 | =0 iR 2 2,000 |110/11/09 |4+ € PRFx2 L¥pfers |4 |- &% =
18038 £ i 500 |110/11/09 |4+ € PRF*Z L ¥gfres | £ |- & & =
181|254 % 500 [110/11/09 |4+ € PRF+2 Agpfces £ |- 4% =
182\ 42 1,000 |110/11/09 |4+ € PR#*>2 Eipfrer | £ |- &% 2
18358 ~ 2 100 {110/11/09 [A+ € PRFx2% L Egfeet |4 |- & & =
1841 % 47 4« 100 [110/11/09 |4+ ¢ rrax 2 Lspgees |8 |- 4
185z 4% 100 [110/11/09 |4 € PR3 % L dpfers |H |- &% =
186 4 3x 100 [110/11/09 [4- & prarz Lspgees |8 |- g =
187t 4 100 [110/11/09 |4+ € PRix % L spdees | |- b =
18877 5. 4 200 [110/11/09 |4+ € PRFx%2 LHspfees |2 |- & & 2
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1893+ & 200 [110/11/09 [t ¢ Pt % & siges |2 |- & =
190]5 % ¢ 100 [110/11/09 [is § i apsens |4 |2
191|% # 100 [110/11/00 ik § peas s &spgens |2 [F 0 2%
192|585 100 |110/11/09 [ia § iz gapsees | |7 17 F
193] =3 100 [110/11/00 | g /Riss £ ipfee |[L |2 wd »
194 25 100 [110/11/09 |A: ¢ PRix % Apgeret |8 MBS 2
1955 p 5 5,000 [110/11/10 [k ¢ Feirs & apfee [T |- iad =
106 i+ 4 2,000 [110/11/10 [ § JRarn & apfers |2 |- 4k =
THEER 50,000 |110/11/10 [t ¢ PRis % & sigess |2 |- 4k =
1082 % & 20,000 |110/11/10 [k ¢ Fir 2 & sigers [T |- 4t =
199]#1% 5 10,000 [110/11/10 [t ¢ s % & sigiess |2 |- 44 =
200[2 % & 6,000 [110/11/10 [k ¢ FRsr 2 & apfee [T |- nk -
01t 2,500 [110/11/10 [k ¢ Fir s & apfee [T |- ad =
202[ E g2 200 [110/11/10 [ ¢ piis 2 & sigees |1 |- ik =
203[E e 200 [110/11/10 i ¢ FRdr 2 & sigess [£. |- 4t =
2043 % W 200 [110/11/10 [ ¢ piis 2 & sigers |1 |- ik =
2054 = & 500 |110/11/10 it ¢ FRdr 2 & sigess |1 |- 4t =
206]77 % 4 300 [110/11/10 iz ¢ Fedt 2 & sigess |1 |- 4k -
207+ 2 8 100 [110/11/10 [t § /Rass & spfee |L |- 4t =
208]# 4 > 100 [110/11/10 [k ¢ pies dapder |2 |- 4t =
2003 % # 100 [110/11/10 [t § /Rass & spfee |L |- 4t =
2103 = 100 [110/11/10 [t & rRass & gifee [L |- st =
EEEE 100 [110/11/10 [t § /Rass & spfee |L |- 4t =
21277 % 4 100 [110/11/10 [t & pRass & difee [L |- st =
213V ie 3,000 [110/11/10 [k ¢ Fsrs & apfee |1 |- it =
MELTE 3,000 [110/11/10 [ § JRars A gigees [L |- it =
215k 3,000 [110/11/10 [k ¢ Fir s & apfee |1 |- it =
216[F A £ ° 500 [110/11/10 [ ¢ pRis 2 & sigess [ |- 5k =
217|Fh % it 500 [110/11/10 [t ¢ pRis 2 sigess [ |- ik =
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